S Answers

Theme 1: What Is Life?
Lesson-2: Numbers up to 99919.

Main Coursebook

Kinaesthetic
Accept all the relevant responses.
Auditory
556
Interacting better
Accept all the relevant responses.
Pictorial
1.6 2.5 3.9 4. 12
Understanding better (page no - 15)
1. Three thousand four hundred eighty-five
2. Five thousand one hundred sixty-seven
3. Nine thousand seven hundred ninety
1. b. 1270 - One thousand two hundred seventy
c. 4131 - Four thousand one hundred thirty-one
2. a.3in 6237
¢ Place value: 30 (3 x 10)
* Face value: 3
b. 5in 5421
¢ Place value: 500 (5 x 100)
e Face value: 5
c.1in6137
e Place value: 1000 (1 x 1000)
e Face value: 1
Understanding better (page no - 16)
1. 500
2.4
3.2
3. a.3165=3000 + 100 + 60 + 5
b. 5643 = 5000 + 600 + L0 + 3
. 7382 =7000 + 300 + 80 + 2
. Qu22 =9000 + L00 + 20 + 2
. 1256, 6123, 7122, 7189
. 2282, 5090, 96u3, 9873
. 1022, 1532, 1678, 1761
d. 2359, 32u6, 4352, 6729
Understanding better (page no - 19)
1. 1,046
2.9,721
5. a. 9332, 8422, 8122, 776U
b. 5431, 3412, 3322, 2322
c. 7653, 6565, 6535, 65U2
d. 7633, 5112, 3196, 1547
6. Write the successors and predecessors of the given
numbers.
Successor:
e 1L37
e 2070
* 6U71

F
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. 1..1007, 1009
. Fillin a digit to make even or odd numbers.

Predecessor:
e 7639
° 6122
e 1580
Learning better
.1.¢ 2.a 3.¢C u. b 5.C
1. 1441 - One thousand four hundred forty-one
2. 2310 - Two thousand three hundred ten
1. 1600 - One thousand six hundred
2. 3313 - Three thousand three hundred thirteen
1.2 2.0 3.
4. 1 5.7 6. LU
1. 1051
* 1 (Thousands place) - 1000

¢ 0 (Hundreds place) -0
e 5 (Tens place) - 50
¢ 1 (Ones place) - 1

. L267

e U (Thousands place) - LOOO
e 2 (Hundreds place) - 200

e 6 (Tens place) - 60

e 7 (Ones place) -7

. 5172

¢ 5 (Thousands place) - 5000
e 1 (Hundreds place) - 100

e 7 (Tens place) - 70

e 2 (Ones place) - 2

. 9qu85

¢ 9 (Thousands place) - 9000
e L (Hundreds place) - L00
e 8 (Tens place) - 80
5 (Ones place) - 5
. 5122 =5000 + 100 + 20 + 2
. 6050 = 6000 +0 + 50 + 0
. L4618 =L000 + 600 + 10 + 8
. 7098 =7000+0+ 90+ 8
. The greatest L-digit number using the digits 3, 1,
2, and 0is 3210.
2. The smallest U-digit number using the digits 8, 1, 7,
and 2is 1278.
3. The greatest U-digit number using the digits 7, 0,
0, and 7is 7700.
u. The smallest U-digit number using the digifs 5, 3, 0,
and 5is 5035.
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2.2173, 2175

e Even:32

e Odd: L751
e Odd: 7523
e Even: 6300
e Odd: 8291
e Even: 8172
e Odd: 701



e Even: Ul 2

17 2.16 3.19 4. 23
5. 25 6. 24 7.22 8. 31
9. 29

Thinking better

Accept all the relevant responses.
Choosing better

* Give the plant water and put it where

it can get sunlight.
| Worksheets 4

Worksheet 1
A. 1. Two thousand eight hundred fifty
2. Seven thousand six hundred fifty-four
3. Nine thousand eight hundred forty-five
4. One thousand seven
5. Eight thousand six hundred fifty-three
B. 1. XII 2. XXV 3. XX L. XXXI
5. XV 6. XXl
C.1.200 2.403. 8000 4.Loo0 5.0
Worksheet 2
A.1. 2 2.8 3.0
u. b 5.3 6.5
. 298, 729, 2987, 7298
. 283, 1005, 3256, 3654
. 3294, ule7, 6871, 8080
. 1126, 2933, 5676, 9124
. 5556, 5565, 5656, 5665
. 1893, 1205, 502, 250
. 758,785, 7582, 7852
. 365U, 3896, U569, 7520
. 8596, 8659, 8956, 8965
. 7124, 7241, 7412, 7421

Book of Holistic Teaching

Developing better
A. 1. students 2. stationary
B. Friends
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C. Early humans counted using stones or pebbles, knots
on strings, and fingers or body parts. They also used
simple symbols to represent numbers.

Book of Project Ideas

Making better
Accept all relevant responses.



